Shiny Friday #2
Future Value App

Stat 133 with Gaston Sanchez

Creative Commons Attribution Share-Alike 4.0 International CC BY-SA



Future Value

(in its simplest form)



Investing Scenario

Amount (principal) = $1,000
Annual rate of return = 5%

Years =5

Future Value in 5 years = ?
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timeline
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timeline
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FV = 1000(1+r)"

Future value at the end of year n
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timeline
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FV = 1000(1+0.05)° = 1276.282

Future value at the end of year 5
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Inputs &
Outputs




Input(s) & Output(s)

Amount (principal) = $1,000
Annual rate of return = 5%

Years =5

Future Value in 5 years = ?

Gaston Sanchez
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Input(s) & Output(s)

Amount (principal) = $1 ,OOO\
Annual rate of return = 5% [ [nputs

Years =5

Future Value in 5 years = ? } Output

Gaston Sanchez 16



Input(s), Computation(s) & Output(s)

Amount (principal) = $1 ,OOO\
Annual rate of return = 5% [ [nputs

Years =5

J

FV =1000(1+r)" | Computation(s)

Future Value in 5 years = FV} Output

Gaston Sanchez 7



Gaston Sanchez
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Input(s), Computation & Output(s)

Inputs
amount = 1000

rate = 0.05
years = 5

Gaston Sanchez
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Input(s), Computation & Output(s)

Inputs
amount = 1000

rate = 0.05
years = 5

Computation
fv = amount * (1 + rate) “years

Gaston Sanchez
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Input(s), Computation & Output(s)

Inputs
amount = 1000

rate = 0.05
years = 5

Computation
fv = amount * (1 + rate) “years

Output
fv

Gaston Sanchez
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FVs for
every year




Input(s), Computation & Output(s)

Inputs

amount

rate
time

Gaston Sanchez
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Input(s), Computation & Output(s)

Inputs
amount = 1000

rate = 0.05
time = 0:5 <— sequence of years!

Computation
fv = amount * (1 + rate)“”*time

Gaston Sanchez



Input(s), Computation & Output(s)

Inputs

amount

rate
time

0.

0

Computation

fv = amount * (1 + rate)“”*time

1000

05
5 <«— sequence of years!

Output: timeline
plot(time, fv, type = "1")

points (time, fv)

Gaston Sanchez
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Shiny App main components

ui
Input ( ) functions; defining inputId and label
Output ( ) functions; defining outputId
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Shiny App main components

ui
Input ( ) functions; defining inputId and label
Output ( ) functions; defining outputId

server

To assemble input(s) into outputs
outputS$SoutputId <- renderFunction ({
# what to do with inputs
# to obtain an output

})
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